<BE>WMHRAR—VHEHR—E

HEER DA BT A &% (nf) HEERAEE E2FI R
M3 : 91m, HEX: 113m
S N T A S8 24 AEFER, 7TV R
HERS W29 | 20,930.00 etk 576,07 mi (S4342.T0) L7
AE R
212 : 7V A=a—Fh
JEERY WEFn274E 14,363.20 | A 67 (P4 PRI 3% - T =2
S A — AR Bt TR
I ] —n e r,vynu—. 77
B MEFN344E 24,958.00 f‘:ﬂ%%ﬁ 18400m. 8L~ JURINT  FTE—
%2*&4\ Bty ({f‘ JE?O)J?‘)
. pm VIZRR—/L 2 VINR—)V, T
Bkt HEFn454F 10,794.20 WA ot
vk mfs2iE | 9,225.00 |20Ms 25m. SIS ik
5 VI7MR—/V 2H VITNR—I TTT
H i /A% HE 524 11,424.17 T i G
R Bk WEFI524E | 10,700.00 ﬁ%fﬁiﬂ;‘ A 86m R
FIEAR— VK -
iEd MEFN524E 923.17 (6 AST =8
F—hR—ts | 524 336.00 |2—h 1 F—hR—n
5 7 VIZRR—)v 2|, Vo h— 1H V7 RR =L i E
BUF S A — [ RIS RS 12,000.00 P ER 1 R, ol —
T=Aa—h T4 5,520.00 [428]fi: 7L A=1—h T =2
. s o V7 RR—L B
1 Tpk2tE | 17,000.00 |7y bR /v 20 oA L B, o dr—. S50
Hﬁﬁﬂjﬁlﬂ }\:,/1/7
HHIE AR — Ji 3 N2y RR—/V 20 SRS BIER, S
. o NL—R—/L 21 R hd NI
B S 2HE 1,116.25 SRSV Ry AT Il:d‘j‘/l/ L INRy
e g 5 b EERY 1H HXE Bk, TR
B« Bl AR — Y A TR PN ERRALE 8,373.00 ﬁﬁ%ﬁﬁ%f sy
BT =25 T=Aa—h W FI534F 1,950.04 (4227 : 7L A= —h T =%
SR by 6 HIER 167 ISR b LR, N
(LHOHETV—F 1,500.00 |\ —R—/L 3 (YIML— 6iH) [VURT=Z SL—
BATH LA SERROAR N2y bR —)V 1 A=
- 28T, FEEOR
7521 404.00 |55 85 2im Y TN
(I R)
VIRR—/L, Ty
Wy — TIT
=%
w ] o L (EEHR)
7R WAFIA2AE 777 R UNFEROEIE, PERHL) [ SRIv by, R, S
b B B KERE e 205.948.00 | UNFE6HE, EERI0BD) oo pF=x L—
> ZFANEY ks U [ RRNE S (AR L0R, HURFRESEEER) | R — L Sy R
F=Aa—h T =Az—h (R 224%) —
(ZAES)
i, AhE, 2T
(F=Aa—})
ER AT =R
(Z779R)
VIR —L Ty
o — TIu
— . " — . - =%
o - TIIUR WBAFI5T4E 7R (IBFAE RG] EJu-& L)1) S
IEI*HQE'/\@J‘J:R’E:':JII 2 ke ~ s Iy . ({$Hﬁﬁ)
SN A A — > i 2 B RS 19,083.00 |fAEAE  (IH7XE)-H4E - FJL) NRIU R, EER N

JURT=A NL—
A= Ay R
—/)v




